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3.

O S 5 U A7E 22 A2 o= A a2 e,

@ 8.356+58=1 ---2.556

@ 8.356+58=1.4 ---0.236

® 8.356 + 5.8 =1.44 ---0.004
@8.356 + 5.8 = 1.4406 ---0.0052

® 8.356 + 5.8 = 1.44068 ---0.000056

@ 8.356 + 5.8 = 1.4406 - - - 0.00052
<HAE> 5.8 x 1.4406 + 0.00052 = 8.356




4. LU 9ol golo] A2 e,

7} >

@ 100.48¢cm? @ 125.16cm? ® 134.16cm?

@ 148.56cm? @ 175.84cm?

~&B

(7t ¥<] Wol)= 9 x 9 x 3.14 = 254.34( cm?)
(4 ¥9] Yol)=5x5x3.14 = 78.5( cm?)
whebA = Ao HWolof A=

254.34 — 78.5 = 175.84( cm?) YUt}




¥ o] 3emgl U] Hol Aol 4cmel U] Hol o] 2wz

@ZHH @1%3]1 ® - H|

1 1
@ 1 Ll @21 Hj

(2RI

B ~
(BtAE°] 3emel 99 Wol)
: 3x 3% 3.14 = 28.26( cm?)
(Aol 4em<] L] Hel)
© 2% 2x 3.14 = 12.56( cm?)
25 1

28.26 +12.56 =225 =2— =

100 QZ(BH)




@ 78.5cm? @)157 cm? ® 235.5cm?

@ 314cm? ® 392.5cm?

—(2 9] Ho))~(&e  uhe] Ho))

= 15><15><3.14><%>—(5x5x3.14x%)

53.25 — 39.25 — 157

- <10>< 10 x 3.14 x %)
3
157( cm2)
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@ 7}Y27} 4em, A27F 7 em,
@ﬂ-iﬂ- 4em, Al 271 2cm,

B

® 5x5x5=125(cm?)
@ 4x4x4=064(cm?)
® 4x4x4=064(cm?)
@ 4x7x3=284(cm?)
® 4x2x4=232(cm®)




-45cm ---___
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Lo [ Jem
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1 I | !
D 16 @ 20 ® 25 @)27 ® 30
g0l 712 9] dol= ¥H o E8et Z5Utt.

=, 45cm + 5 =9(cm)

AMNEAA 9em Q1 A=o] 16700 2=
9% 16 = 144( cm)

144 4+ (]x2) = 198(cm)

= (198 — 144) + 2 = 27(cm)




)= 38

@ A5

27158 mAg 4 [ |x3
25 Ao 4 [ ]+2

[ Ix6+2=38
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/ 12cm
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7 17 17 7 7
Oz @i @37 Wi 95

@ ©] Yol @ 5x 4+ 2 = 10(cm?)

@ 9 Yol : 7x 2+ 2 =7(cm?)

@t @< ol e el tigt (L) & ol o] H]
7




13. ©9] solof tigt @] Wolo] v|& 7 7ids] UEtd A2 o]
AAY7t?
@ (&)
//,—12cm—~\\ ,48CII1~\
3cm K
9cm
1
/
/
O 66:53 @ 11:9 @ 66: 54

@ 54 :108 @9:11

B

@] Wol= (12 x 9) + 2 = 54(cm?)
@] HWol= (8 x9) - (3 x 2) = 66( cm?)
<] Hole tigt @2 weole] H|
—>54:66=9:11
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15.

ONNE) ), @
® 00 ORI NCNG)

® B A gt

~&B

@ FZE 7€k 5ol e B2 Idj2o|E R Hul= ¥
Sy

O =°] xo) B= FE9] Holo g2 ¥istA] 5yt

6 (9% B9 H1)) = (LE2% E9| 71)
15 x 30 x 20=(Atch&]&E2] B o])x20
={(@+©)x30+2}x20
@+ © =30cm
ohebA] 2 22 @, @YY




